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ENGLISH VERSION

Instruction : As per the instruction no. 1 of page no. 1.

1 From the following particulars find out overhead expenses and 10
efficiency variance, Pass necessary journal entries for the same :
Standard Overhead :

Dept. A : 2 hrs. @ Rs. 5, Total Overheads : Rs. 30,000
Dept. B : 4 hrs. @ Rs. 10, Total Overheads : Rs. 1,20,000
Actual Overheads :
Dept. A : Rs. 30,000
Dept. B : Rs. 1,25,000
Actual Time Spent :
Dept. A : 5,200 hrs.
Dept. B : 12,000 hrs.
Actual Units produced :
Dept. A : 2,800
Dept. B : 2,800

2 The standard material cost of producing 100 units has been predetermined 18
as 200 kg @ Rs. 4 per kg.
The Actual data is as under :

Actual output (units) 200

Opening stock of material (kg.) 300 at standard price
Purchase of material (kg.) 700

Actual amount paid (Rs.) 2,100

Closing stock of material (kg.) 400
Find out the difference in variances if method is used for issue of material
is FIFO and LIFO.

OR
2 From the following particulars find out labour efficiency variance and prepare

necessary accounts :
Standard Labout Requires :

Dept. A : 2 hrs. @ Rs. 17.5

Dept. B : 4 hrs. @ Rs. 15
Actual Labour Time Spent :

Dept. A : 5,200 hrs. @ Rs. 17.5

Dept. B : 12,000 hrs. @ Rs. 15
Actual Units produced :

Dept. A : 2,800

Dept. B : 2,800
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3 Maruti Limited issues 16,00,000 Debentures, the entire issue was 12

underwriter as under :
A 1 9,60,000 Debentures
B :  4,00,000 Debentures
C . 2,40,000 Debentures

The firm responsibility was as under :
A 1,28,000 Debentures
B : 48,000 Debentures
C : 1,60,000 Debentures

The total subscription excluding firm underwriting, including marked application
was 8,00,000 Debentures. Marked applications were as under :

A 1,60,000 Debentures
B : 3,20,000 Debentures
C : 80,000 Debentures

Ascertain the liability of the individual underwriters.

4 Define Return on investment and explain the suitable method for finding 10

investment return for Financial security and Physical investment with
suitable example.

OR

4 Do you believe that Marginal Cost Method is only the best method for
transfer pricing ? Why ? Explain with suitable example.
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